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Part A: Grammar and Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark
the correct choice on your answer sheet.
Ole g 4o0l,S A Lo
oo UseSS JSib i @ ) oz 50 oS 2SOl 1) cuwlio a3 (F) 9 () «(Y) () slo aiu3S 0w Sl iolxwsgs

1- By the time | met Fred, he .................. his studies at Oxford University.
1) did already finish 2) would already finish
3) has already finished 4) had already finished

............... 299ST 0513 )5 9l dile> ) 2,5 B | 3,8 aS iloj )
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Usesd -l aidly oLl 43S 55 (6,505 o 31 U a5 3S(e capogi | Llac asy isle S5 lie a4l 0315 &,
(Gl J=8 pgw JSui ¢ylas past participle aS had + past paticiple :cul @jgo ¢l @ 3u=s Hole (g

2- Mary had a terrible stomachache and .................. | suggested that she visit a doctor.

1) on the other hand 2) nevertheless
3) therefore 4) furthermore
2930 Sy Ui gl a5 03,5 dlgidin (o e 9 Cudld (g0 3,5 (5 (g0 Y
ogMe a; (F ozbl (V¥ 929 ol b (¥ 5523 b 51 ()

(0255 awogi gl as |y Susyy G 038y 0o by bl 3)3 U3 (50 092) @ ¥ aiy3S tadse lol b Fuwly
3- Some people have ............. use for credit cards because they carry cash with them wherever they go.
1) little 2) a little 3) few 4) a few

4- The cell phone is an invention that .......................... the way people communicate.

1) had phone changing 2) has been changed
4) will be changed 4) has changed
¥1
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5- The people .........ccece........ fOr the smoke detectors came and installed them yesterday.
1) are responsible 2) responsible

3) they responsible 4) who responsible

6- Tom looked quite happy in ..................... to those around him, who were all sad and depressed.
1) conflict 2) contrast 3) condition 4) confidence

7- Doctors advise that some diseases can ....................... the balance of water in the body.
1) disturb 2) distract 3) define 4) devote

8- An .......ccuuee..e..... Item of the uniform is a wool jachet for winter and a college blazer.

1) emotional 2) industrial 3) additional 4) environmental

9- Italics are sometimes used to ...................... Certain words and expressions in a text.

1) summarize 2) accomplish

3) supplement 4) emphasize

10- ..cccoceeeeeenennennns, there are no more tickets available for the movie we want to see.

1) Unfortunately 2) Appropriately

3) Subsequently 4) Continuously

Part B: Reading Comprehension
Directions: Read the following passage and select the choice (1), (2), (3), or (4) that best answers eaxh
question. Then mark your answer on your answer sheet.
wlbo )0 (B Gy

L -3 OS] Jlgaw 9 (sl b cawlio aigS (F) 9 () «(F) «(1) o ainjS pw 5l 9 Wil |y ) wie iolowsgs

A3 Caolle gunly oS5 50 | ol
Ada Lovelace was the saughter of the poet Lord Byron. She was taught by Mary Somerville, a well-known
researcher and scientific author, who introduced her to Charles Babbage in June 1833. Babbage was an
Englilsh mathematician, who first had the idea for a programmable computer.
In 1842 and 1843, Ada translated the work of an Italian mathematician, Luigi Menabrea, on Babbage’s
Analytical Engine. Though mechanical, this machine was an important step in the history of computers; it
was the design of a mechanical general-purpose computer. Babbage worked on it for many years until his

death in 1871. However, because of financial, political, and legal issues, the engine was never buit. The

YV
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design of the machine was very modern; it anticipated the first completed general-purpose computers by
about 100 years.
When Ada translated the article, she added a set of notes which specified in complete detail a method for
calculating certain numbers with the Analytical Engine, which have since been recognized by historians as
the world’s first computer program.
11- Which of the following statements is true?
1) Luigi Menabrea was Ada Lovelace’s teacher.
2) Mary Somerville was Ada Lovelace’s teacher.
3) Ada Lovelace was Mary Somerville’s daughter.
4) Lord Byron introduced Ada Lovelace to Charles Babbage.
12- Who first had the idea for a programmable computer?
1) Mary Somerville 2) Luigi Menabrea
3) Ada Lovelace 4) Charles Babbage
13- The word “it” in paragraph 2 refers to ................
1) the history 2) this machine
3) an important step 4) a mechanical general-purpose computer
14- According to the passage, the engine was never built for all of the following reasons EXCEPT ...............
issues.
1) political 2) legal 3) social 4) economic
15- The word “specified” in paragraph 3 is closest in meaning to ......cccceceeeeeeees «
1) identified 2) magnified 3) qualified 4) satisfied

Part A: Grammar and Vocabulary

Directions: Choose the words or phrases (1), (2), (3), or (4) That best completes each sentence. Then mark

the correct choice on your answer sheet.

16- The news about the effects of air pollution on the development of children’s lungs ....................

disturbing.

1) are 2)is 3)itis 4) they are
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ol 53 Y Jud



oo\l
17- Ivan ......eeeeecenneenne... t0 get a promotion to manager, but the management chose someone from outside

the company.

1) had supposed 2) is supposing
3) was supposed 4) has supposed
18- Please be quiet when you go into the baby’s room. She ....................... and we don’t want her to wake

up and begin to cry.

1) may have slept 2) must have slept
3) might be sleeping 4) she will be sleeping
19- Most of the chocolate ........................ today is not drunk, but eaten, thanks to a chocolatier in England,

who produced the first solid chocolate in the 19th century.

1) consumed 2) consuming 3) is consumed 4) that is consuming
20- The students would certainly have solved the problem more easily if they ............... Their calculators.
1) have used 2) would use 3) used 4) had used
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